Type S TypeS

SVQ*R/L SVU*R/L

E ;
[ = s / - .
w1175 4 w
o (v L L ! o sy

F42 Gl4 G10

iR e Nk wF HkFL S o kK 472 wF HkFL

Specification Min dia Insert NIE Wrench Water hole Specification Mindia  d Insert Screw Wrench Water hole

S12M-SVQBR/L11 17 12 10.5 27 150 11 10° VB..1103.. M2.5*7 Q08 - S16N-SVUBR/L11 22 16 125 27 160 15 10° VB..1103.. M2.5*7 Q08
) S16N-SVQBR/L11 22 16 11,5 27 160 15 10° VB..1103.. M2.5*7 Q08 - S20Q-SVUBR/L11 27 20 14 34 180 18 8 VB..1103.. M2.5*7 Qo8 .
%3 S20Q-SVQBR/L11 27 20 14 34 180 18 8° VB..1103.. M2.5%7 Q08 - H16N-SVUBR/L11 22 16 11.5 27 160 15 10° VB..1103.. M2.5*7 008 %8
- S16N-SVQCR/L11 22 16 11.5 27 160 15 8° VC..1103.. M2.5°7 Q08 - S16N-SVUCR/L11 22 16 115 27 160 15 10° VC..1103.. M2.5°7 Q08 2
5ig $20Q-SVQCR/L11 27 20 14 34 180 18 6° VC..1103.. M2.5%7 Q08 - $20Q-SVUCR/L11 27 20 14 34 180 18 8 VC..1103.. M2.5*7 Q08 I

$20Q-SVQBR/L16 27 20 14 34 180 18 10° VB..1604.. M3.5°9 015 E H16N-SVUCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*7 Q08

S25R-SVQBR/L16 32 25 16.5 43 200 23 8° VB..1604.. M3.5*9 Q15 - S20Q-SVUBR/L16 31 20 19 34 180 18 8° VB..1604.. M3.5"9 Q15

S32S-SVQBR/L16 41 32 225 54 250 30 10° VB..1604.. M3.5*9 Q15 = S25R-SVUBR/L16 35 25 20 43 200 23 6° VB..1604.. M3.5*9 Q15

S40T-SVQBR/L16 50 40 27 68 300 37 8° VB..1604.. M3.5*9 Q15 - S$32S-SVUBR/L16 42 32 225 b4 250 30 8° VB..1604.. M3.5*9 Q15

S20Q-SVQCR/L16 27 20 14 34 180 18 8° VC..1604.. M3.5*9 Q15 = S40T-SVUBR/L16 51 40 27 68 300 37 8 VB..1604.. M3.5*9 Q15

S25R-SVQCR/L16 32 25 16.5 43 200 23 6° VC..1604. M3.5*9 Q15 - $20Q-SVUCR/L16 31 20 19 34 180 18 8 VC..1604. M3.5"9 Q15

$32S-SVQCR/L16 41 32 225 54 250 30 8 VC..1604.. M3.5%9 Q15 - S25R-SVUCR/L16 35 25 20 43 200 23 6° VC..1604. M3.5"9 Q15

S40T-SVQCRAL16 50 40 27 68 300 37 6° VC..1604.. M3.5"9 Q15 - S$328-SVUCR/L16 42 32 225 54 250 30 8 VC..1604. M3.5"9 Q15 : .
81 A2M-SVGBRAL11 17 12 10 27 150 11 10° VB.1103.. M2.5°7 Q08 i SMOT-SVUCRILIE 51 40 27 68 300 37 6° VC..1604.. M3.5%9 Q15 : 2
5 A6N-SVQBR/L1Y 22 16 115 27 160 15 10° VB.1103. M25'7 Q08 V ATGN-SVUBRLL11 22 16 11.5 27 160 15 10° VB.1103. M2.5'7 Q08 ! 5
£ A20Q-SVQBR/L11 27 20 14 34 180 18 8° VB.1103.. M2.5*7 Q08 v A20Q-SVUBR/L11 27 20 14 34 180 18 8 VB..1103. M2.5"7 Q08 ¢

AIGN-SVQCRLT 22 16 115 27 160 15 8 VC.1103. M2.5%7 008 . A16N-SVUCR/L11 22 16 11.5 27 160 15 10° VC..1103.. M2.5*7 Q08 i
o A20Q-SVQCR/L11 27 20 14 34 180 18 6° VC.1103. M2.5°7 Q08 ' A20Q-SVUCRL11 27 20 14 34 180 18 8° VC.1103. M2.5%7 Q08 ! .
S A25R-SVQBR/L16 32 25 165 43 200 23 8 VB..1604.. M3.5°9 Q15 i A2Q-SVUBRMLG 31 20 19 34 180 18 8" VB.1604. M35%9 Q15 v i
nz A20Q-SVQCR/L16 27 20 14 34 180 18 8° VC..1604. M3.5°9 015 N i& M Suitable:#&% 71 /i DEREK Insert nE

A25R-SVQCR/L16 32 25 16.5 43 200 23 6° VC..1604.. M3.5*9 Q15 v
3 i& F Suitable: &5z 71 5 DEREK Insert 2
£ £
Yl 7

»<4 DEREK »< DEREK




